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13,8 0 599,9 4w RunlocalTest

g2 dalgs A fal,l cpl 05l Sl cnl pls sl assignment o U :sl (39,9

Lows w|).ah.:-_"~u| string &y )l C:L": Lﬁl I 9529,9 a5 ol eb e P9 539,9
Olgue & a5 30l abls 595 Lol 5 0592 )5 Jlgas ,a sl oo process &6 G b
505,90 5 031> a5 sl ¢l process wb 5l aa .auass RunLocalTest xw 45 (5359
Glhe 539,9 b 350 plail 6399 sLud 59, 39 U510 e 995 2 629,951
into),‘o«p |)oJ|.>L¢..ZP1.3)9§”eU)f|dL1A6|){ Mbwpkg.)pﬁlebgag)géyb
P:..g”fﬂ &b @l ool aslgs bayysle jo int o, gm0 a5 ) osls 1L b w87 (0l )0
aalgs Lol oo, o8l @6 (29,5 Olea Process mb (29,5 pa coles ;o 5 Juas 595
&L 9 p2,5 pasin pa |, Process b el lgw 0 Slxog )5 45 208 w8y oy
Al bl paea 4 2L s po Ll sla

&l e 315,18 Jlgus OF 4 by 10 sla testcase a5 cuwl (s, 059 oL & pous (5399
T I o TDY 95 Jlgw 51y 9 390 3algs TDY (63,9,9 cpl G Jlguw

o3bo |, Jlgw & bgs 0 TestMethod 5 process 5 piu o8l @b suas 3990 Led 095
8 s |y 395 120,080 L 9 18 (55l

\



Binary Search \

S LT a8 58 gy o b et cay)ls el o ndgb a b g a g al)T 95 a5 0S5,
ngngbJuLbaLsgl)T).s_)fl 3 bl 39290 a asl T s bd‘\J“l)TisLﬁﬁda:C)'lgij
Lhvoosae lsas al)l o STy ashs Sy (29,5 Olsie 4 a g &l )51, of Index
5593 51 0l olie 6 dsa 9 cnl G920 S0 4 a s @l AT S8 cds awls S,

S a>g ;5 Jle 4 L aiiwa ki

a:1,5,8,12,13
b:8,1,23,1,11
;,.,S)Smlaul |ndeX9.h)|.>.)9_’>9aL5¢b|)|).>\QAAYM@WYLJLA)J
Z.\yM'P)J)u)}«ad.:@g)}ual)JLu _5)|.)JJ9.>9(1).§VY'9\\LJ9ML@ Y
2,0,-1,0, —

M,» conquer and divide, oSl & 3L L Jlges el J> 51,
4ol Lo Yevo : Sloy Cudgine @
AL D90 4 Bl e ol o b 2l (el
e Algorithm Function : BinarySearchl
e Process Function : ProcessBinarySearchl

e Test Function : Graded_ BinarySearchlTest

public static long[] BinarySearchl(long[] a , long [] b)
{

//write your code here

return new long[] {©};

public static string ProcessBinarySearchl(string inStr) =»>
TestTools.Process(inStr, BinarySearchl);

[TestMethod (), Timeout(1e00)]
[DeploymentItem(@"TestData", "A5_TestData")]

o
public void Graded_BinarySearchlTest()
{
TestTools.RunLocalTest("A5", Program.ProcessBinarySearchl, "TD1");
}
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e Algorithm Function : MajorityElement2
e Process Function : ProcessMajorityElement2

e Test Function : Graded_ MajorityElement2Test

public static long MajorityElement2(long n, long[] a)
{

//write your code here
return ©;

public static string ProcessMajorityElement2(string inStr) =»>
TestTools.Process(inStr, (Func<long, long[], long>)MajorityElement2);

[TestMethod(), Timeout(leee)]
[DeploymentItem(@"TestData", "A5_TestData")]

/]
public void Graded_MajorityElement2Test()
{
TestTools.RunLocalTest("A5", Program.ProcessMajorityElement2, "TD2");
}
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¢ Algorithm Function : ImprovingQuickSort3
e Process Function : ProcessImprovingQuickSort3

e Test Function : Graded_ ImprovingQuickSort3Test

public static long[] ImprovingQuickSort3(long n, long[] a)
{

//write your code here

return new long[] { © };

public static string ProcessImprovingQuickSort3(string inStr) =>
TestTools.Process(inStr, (Func<long, long[], long[]>)ImprovingQuickSort3);

[TestMethod(), Timeout(leee)]
[DeploymentItem(@"TestData", "A5_TestData")]
/]

public void Graded_ImprovingQuickSort3Test()
{

TestTools.RunLocalTest("A5", Program.ProcessImprovingQuickSort3, "TD3");
}
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e Algorithm Function : NumberofInversions4

e Process Function : ProcessNumberofInversions4

e Test Function : Graded NumberofInversions4Test

public static long NumberofInversions4(long n, long[] a)

{

//write your code here
return ©;

public static string ProcessNumberofInversions4(string inStr) =>
TestTools.Process(inStr, (Func<long, long[], long>)NumberofInversions4);

[TestMethod(), Timeout(leee)]
[DeploymentItem(@"TestData", "A5_TestData")]

o
public void Graded_NumberofInversions4Test()
{
TestTools.RunLocalTest("A5", Program.ProcessNumberofInversions4, "TD4");
}
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e Algorithm Function : OrganizingLottery5

e Process Function : ProcessOrganizingLottery5

e Test Function : Graded_ OrganizingLottery5Test

public static long[] OrganizinglLottery5(long[] points, long[] startSegments,
long[] endSegment)

{

//write your code here
return new long[] { © };

public static string ProcessOrganizinglLottery5(string inStr) =>
TestTools.Process(inStr,Organizinglotterys);



[TestMethod(), Timeout(leee)]
[DeploymentItem(@"TestData", "A5_TestData")]

@ | 0 references | 0 changes | 0 authors, 0 changes
public void Graded_OrganizinglLotteryS5Test()
{

TestTools.RunLocalTest("A5", Program.ProcessOrganizinglLottery5, "TD5");
}
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¢ Algorithm Function : ClosestPoints6
e Process Function : ProcessClosestPoints6

e Test Function : Graded ClosestPoints6

public static double ClosestPointsé(long n, long[] xPoints, long[] yPoints)
{

//write your code here

return ©;

public static string ProcessClosestPointsé(string inStr) =>
TestTools.Process(instr, (Func<long, long[], long[], double>)
ClosestPointsé);

[TestMethod(), Timeout(leee)]
[DeploymentItem(@"TestData", "A5_TestData")]

V]
public void Graded_ClosestPointsé()
{
TestTools.RunLocalTest("A5", Program.ProcessClosestPoints6é, "TD&");
}
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